DIYGLASS

www.diyglass.com.au

LUXE-LATCH 90 External
8-12mm gate & 12mm catch panel

Accessories

1mm plastic 4pc’s

Installation

1. Loosen the M5 x 16 screws
enough so the front plate
and back plate are detached.
For a 10mm gate add 2 pc's
of 1mm plastic on the back
plate. 8mm gate add 4 pc’s

ﬂ?ﬂ

Back plate

M6 x 6 screws

Front plate
FRONT - Outside pool area

2. Place the front plate and
back plate over the gate
panel. Align the side edge
with the gate then tighten
the M5 x 16 screws.

M5 x 16 screws

90 catch
BACK - Inside pool area

3. Put the 90 catch over the
catch panel and align it with
the front plate. Then tighten
the M6 screws, they must
not protrude. Make sure the
glass panel gap is 8-10mm.

M6 screws‘ ‘




